Klasa 6

Powtarzamy, utrwalamy.
Ulamki dziesietne

Zad. 1 Oblicz:
a) 2,58 - 10 = b) 123,2: 10 = ¢) 2=
10
100 - 0,039 = 0,03: 10 = 4021
100
0,43 - 1000 = 0,4: 100 = 1245 _
100 - 7,2 = 250 : 100 = 1000
548200
0,05 - 1000 = 68: 1000 = 100
3 2 64 _
10 - 8,5 = 4,7: 10 = 100
Zad. 2 Oblicz:
a) 0,8 -7 = b) 2,1 - 300 =
0,412 = 40 - 1,2 =
11 - 0,09 = 3,2 - 3000 =
0,1-001= 900 - 0,006 =
0,6 007 = 4000 - 0,015 =
Zad. 3 Oblicz ilorazy:
a) 0,54: 0,006 = = p) 248 - . -
0.4 .
0,027:0,3 = : = 4 _ —
0,08 — -
3:0,6 = 2 = 13 _ N
4:0,5= = 0,2
0,056 _ _
07 -
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